
ca. 0,3-0,7mm

90900
5x10x0,2!

90910
5x10x0,3

90890
5x10x0,1

ca. 0-0,6mm

94/20

97/31

71/11 
3x7x3

71/11 
3x7x3

97/7

0,1-0,6mm

! 0,1-0,6mm

Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT im 
Bausatz enthalten!!

(S)

90810
3x5x0,5

Ord.No.10/36

96/1
5x13x5

96
5x13x4

90425
M3x20

(S)

(S)

90°-Heckgetriebe für Fenestron
Ord.No. 92/76
02/18

(Sh) Ord.No.10/23

95/5

96
5x13x4

Fett

96/1
5x13x5

92/31

Ord.No.49/12

4x 90010
M2x6 (S)

4x 90010
M2x6 (S)

Fett

Ord.No.10/36

90365
M3x3 (Sh)

95/5

92/30

90365
M3x3 (Sh)

90365
M3x3 (Sh)

92/32

(S)

90900 
5x10x0,2

92/31 schwarz

4x 90010
M2x6 (S)

90370
M3x4 (S)

99 A
6x10x2,5

90365
M3x3 (Sh)

ca. 0-0,6mm

94/2

98/20
107/12
2,5mm

90010
(S)M2x6

92/96

99/9

107/12
2,5mm

99/9

92/96

90010
(S)M2x6

98/20

94/2
90365
M3x3 (Sh)

99 A
6x10x2,5

90370
M3x4 (S)

95/5

4x 90010
M2x6 (S)

92/31 schwarz

90900 
5x10x0,2

(S)

Ord.No.10/36

92/32

90365
M3x3 (Sh)

90365
M3x3 (Sh)

92/30

90365
M3x3 (Sh)

(Sh) Ord.No.10/23

Fett

4x 90010
M2x6 (S)

4x 90010
M2x6 (S)

Ord.No.49/12

92/31

90425
M3x20

96/1
5x13x5

Fett

96
5x13x4

95/5

90°-Heckgetriebe für Fenestron
Ord.No. 92/76
02/18

(S)

(S)

96
5x13x4

96/1
5x13x5

Ord.No.10/36

90810
3x5x0,5

(S)

Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT im 
Bausatz enthalten!!

0,1-0,6mm

! 0,1-0,6mm
97/7

71/11 
3x7x3

71/11 
3x7x3

97/31

94/20

90910
5x10x0,3 90890

5x10x0,1

!

ca. 0,3-0,7mm

90900
5x10x0,2!

90910
5x10x0,3

90890
5x10x0,1

!
90890
5x10x0,1

90910
5x10x0,3


